1.My experience has led me to conclude that the only way to assess whether students REALLY understand the course contents (instead of simply memorizing or acquiring a superficial knowledge) is through a TF test.
More: because students know this in advance, they must study in a DIFFERENT WAY: instead of memorizing they try to really understand the ideas.

2. Justification for discounting for a wrong answer the full value of a correct answer.
Consider a test composed of 20 questions, each with a value of 1 point.

1st question: suppose that a student does not even bother to read the questions, and puts a cross at random in each of the answers. How many correct answers will he/she get on average? Answer: 10 in 20.

Therefore:

2nd question: if there’s no discount for a wrong answer, which mark will that student get on average? Answer: 10/20 = 50%, a pass!

3rd question: if the discount for a wrong answer falls short of the full value of a correct answer (ex: - 0.6 points vs. 1 point), which mark will that student get?

Answer:

10 correct answers => 10 points
10 wrong answers => - 6 points

Mark = 4 points.

But the student did not demonstrate that he/she understood 4/20 of the lecture topics. In fact, the student did not even bother to read the questions, and thus didn´t demonstrate to have understood anything. Hence, he/she should get zero. 
4th question: if the discount for a wrong answer is equal to the full value of a correct answer, which mark will that student get? Zero.
